

$$M_1 := 2.976 \cdot 10^{-11} \cdot m^4$$

$$M_2 := 6.426 \cdot 10^{-11} \cdot m^4$$

$$M_3 := 1.466 \cdot 10^{-11} \cdot m^4$$

$$M_1 + M_2 + M_3 = (1.087 \cdot 10^{-10}) m^4$$

Why not simply:

$$X := 3$$

$$\sum_{i=1}^X M_i = (1.087 \cdot 10^{-10}) m^4$$

Or, if you really want to define an extra function:

$$f(x) := M_x \quad \text{Notice that } x \text{ is just a dummy variable here, not a range variable.}$$

$$\sum_{i=1}^X f(i) = (1.087 \cdot 10^{-10}) m^4 \quad \text{Note that } i, \text{ not } x \text{ is passed to the function within the summation..}$$